
MÅL
Per 1 08:33 0—1 Tobias Gustavsson

Ass. Johan Kittel

Per 1 15:31 0—2 Anders Sandberg
Ass. Anders Lundström

Per 1 15:55 1—2 Tony Tuvestad
Ass. Ulf Wikström

Per 2 00:34 2—2 Urban Tuvestad
Utan assist

Per 2 03:25 3—2 Urban Tuvestad
Ass. Ulf Wikström

Per 2 11:42 4—2 Tony Tuvestad
Ass. Ulf Wikström

Per 3 07:28 4—3 Magnus Lindkvist
Ass. Mattias Gustavsson, Jani Sillanpää

Per 3 10:52 5—3 Urban Tuvestad
Ass. Ulf Wikström

Per 3 13:23 6—3 Tony Tuvestad
Ass. Ulf Wikström, Urban Tuvestad

Målvakter:

Backar:

Forwards:

GP W T L GF GA GD PTS

Nittorp 9 8 1 0 41 - 19 22 17

Mölndal 9 5 3 1 37 - 18 19 13

Hanhals/Kungsbacka 9 5 1 3 45 - 25 20 11

Gislaved 9 4 3 2 35 - 27 8 11

Kungälv 9 3 2 4 26 - 30 -4 8

Borås 9 3 1 5 29 - 34 -5 7

Vänersborg 9 3 0 6 26 - 32 -6 6

Göteborg 9 3 0 6 24 - 40 -16 6

Skövde 9 3 0 6 28 - 49 -21 6

Grästorp 9 2 1 6 19 - 36 -17 5

Hem: http://www.skovdeik.se/

Nästa match mot IFMH: http://skovdeik.se/files/gamefacts/matchfakta_1524.pdf

Föregående match mot IFMH: http://skovdeik.se/files/gamefacts/matchfakta_1477.pdf

LÄNKAR

Nästa match: http://skovdeik.se/files/gamefacts/matchfakta_1524.pdf

Föregående match: http://skovdeik.se/files/gamefacts/matchfakta_1522.pdf

VÄNERSBORGS HC 1 — 4 NITTORPS IK

TABELL

KUNGÄLVS IK 2 — 1 GÖTEBORGS IK
IF MÖLNDAL HOCKEY 6 — 3 SKÖVDE IK

BORÅS HC 5 — 1 GRÄSTORPS IK
HANHALS/KUNGSBACKA IF 6 — 2 GISLAVEDS SK

RESULTAT

Serie: Division II Södra A

Omgång: 9

Dahlqvist 14. Michael Nordin 24. Peter Crozzoli

7. Anders Lundström 9. Mattias Gustavsson 10. Per Lundström 17. Jani Sillanpää

18. Magnus Lindkvist 19. Anders Sandberg 21. Lars Trygg 22. Tobias Gustavsson

23. Patrik Åstemo 25. Johan Kittel

Utvisningar, SIK: 5 x 2 min

15. Peter Jonak 20. Petter Gumaelius

2. Emil Karlsson 4. Jonas Högsander 8. Oscar Jansson 11. Tomas Kempe 13. Mats

Skott: 41—25 (14—9, 12—9, 15—7)

Utvisningar, IFMH: 4 x 2 min

Omgång: 9

Domare: Magnus Bengtsson

Arena: Åby Isstadion

Serie: Division II Södra A

År: 1997

Matchnr: 1523

MATCHFAKTA

IF MÖLNDAL HOCKEY — SKÖVDE IK
6—3

(1—2, 3—0, 2—1)


